7.6
Practice - Rational Equations

Solve the following equations for the given variable:

3e—1-1-g 39)
20 5z N r4l=—1o
3)$+m:m—2 ) 2 rz+1
. 4 z“+6 172:2
5)x+zi3:x273 ) . +$_1 )
4—x 12
7) 2 _4$+5_ 3 6) l‘—1:3—x+
3zr—4 6x—1 3z—4

8) 6z +5 2 3x

9) dm_ 7T _3 202—2z 1-x2 z2-1
2m —5 3m+1 2
4x 4 1
11) 4—z 12 10) 20—6 Br—15 2
-z 33—z

1 1 3248
15) t+2 2—z  x2—4

z+1 z—1 5 3z —1 z 32—z

1 — —)
7) vl el 6 r—1 T+ 2 3
18) -2
3 2z +1 812 z—3 z+3 4
19) =24+ 2 =1
Zerl 2w dz®—1 3¢c—5  br—1 w—4
20) + — =2
Tz —2 1 1 5 —5 Tx—1T 1—z
21) — =
r+3 T —2 24+x—6 1 vtd 1
22) + =
3 z—1 5z+20 x—2  2z+4+1 222-3z-2
23) + =
t+2 ' z+5 6x+24

T 4 — 52
24) z+3 2-2 224x-6

T 2 472
25) r—1 =z+1 22—1 2
2 2 5

5 26) m+2+m—4:x272x78
x+1 z+5 24+ 6x+5 98 z 3 — 92
5 ) z+1 z+3 x214r+3
29) x75+z+3: —4x
x—9 x—3 212z + 27 30> $—3+$—2_ 22
z+6 x—3 2243z —18

r+1 3r—2 T2
31) x—4+ z+4 = 22-16 32) r—3 | x+5 _  —2z2

) 176+z+3_:v273:v718
z+3 T—2 9z
33) x—2+$+1_127:v72 dr+1 | 5x—3 8x2
34) z+3 + z—1 212+2173

35) 3z—1 2c-3__  —3a?
z+6 z—3  2243zx—18

Beginning and Intermediate Algebra by Tyler Wallace is licensed under a Creative Commons
Attribution 3.0 Unported License. (http://creativecommons.org/licenses/by/3.0/)



7.6

Answers - Rational Equations

1) —5.2 13) 3.5 25) 2
2) —3,1 )2 13 2) 1
3) 3 15) —

4) —1,4 16) 2 20) %
5) 2 17) — 3,5 28) 1
6) 3 18) — 2,1 29) —2
7) -1 19) 2 30) —1
8) —3 20) 10 31) 1
9) =5 21) 0, 5 39) 12
10) —— 22) —2,3 !
11) —5,0 23) 4,7 33) —10
12) 5,10 24) —1 34) 1
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